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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

( APPLIED STATISTICS )

1. Answer the following as directed : 1x7=7
. &eTs feaead ot wpif S fan

(a) In general, Laspeyres’ price index
number is . than Paasche’s price
index number. :

( Fill in the blank )
| YRS, AR W OIS AR

TRIFRF |
(mﬂimww)
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(2)

(b)) The seasonal variations of a time series
occur

JECAR APHAS ﬂﬁ?r’—r{ Cr1 ¢ A
(i) within a month
CNRIESAECE S
(i) within a week
9o AR fooTe
(i) within a year
451 7579 foove
(iv) within a day
b1 fi7q oS

( Choose the correct answer )

( = Teach! AR Sferean )

(c) What is hypothetical population?
sefs R R

(d) In a particular period, cost of living
index number is found to be 150 and
money wage of a worker is ¥ 9,000.
What will be the worker’s real wage at

that period?
m@ﬁﬁﬁw%ﬁmm PRI
150 @® &4 =R §@ /R T 9,000.
wfieea G2 IR oS TR R T2
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(e)

(9)

8A/847

(3)

If the origin in a trend line equation is
shifted forward by three years, X in the
equation Y = a+bX will be replaced by

3t @A T Sl SReR 91 R 3 W

WiEaR R W, Y = a+bX T X SEh

g

(i) lx
3

L xqom

3
i) X+3
X+33°[M -
(i) X -3
X-33°[
(iv) None of the above .
84 ble T _ |
( Choose the correct answer )

(= T iR Tfejeqr )
What does L, column of the life table

- represent?

Qe oIl L, mﬁ{m? |

'Non-sampling errors are present both in
census surveys as well as sample

surveys.
( Write True or False )

"a-Tfsrmzéwwwiwﬁ

P SPTACS iS5 Fb AP oA |
(= 7 wrom forn )

Y { Turn Over )



2. Give

(4)

short answers of the following

2x4=8

questions :

wﬁmmﬂwm

(a)

()

()

(d)

Mention the components of a time

series.
TR TAePER A AP N A
Lol

What is meant by deseasonalization of
data of a time series?

IR Apste deRdEe Y I &
@ ?

What is the significance of Net
Reproduction Rate (NRR) =17

W% #4579 9 (NRR)=13 @i & 2
Index numbers are economic
barometers. Explain.

WWQWWNW%IWWI

3. Answer any three from the following

questions :

wors T R e fofRb! 2na T firan -

(a)

What is cost of living index number?

-~ Mention its uses. - = 2+3=5

& frfiz T poe B2 TR IROR

BER

8A/847T. - ( Continued )
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(5)

_(b) ~ Write the advantages of sample survey
over complete enumeration. - 5

w‘fﬁﬁﬁwﬁﬁmﬂﬁ’rﬁaﬁw
foran

() From the chain base index (CBI)
numbers given below, find fixed base
mdex (FBI) numbers 5

oo frm -zﬂaﬁﬁi W"‘““R‘ (CBI) *R1

&R s (FBI) ey w04
Year : 1975 1976 1977 1978 1979
CBI : 80 110 120 90 140

(d) Calculate trend values usiﬁg 4 yearly-
moving average for the time series given

below: 5
woS R FEAGR A 4 I o8 S
I IR TR T Fefey 41

Year - ; 2008 2009 2010 2011 2012 2013 2014 2015 2016

Production(kg) : 506 620 1036 673 588 696 1116 738 663
Beomr (fRen)
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(6)

fe) Define : ye 152 ; B L g

e for
(i) Population

(i) Parameter
bl
(i) Statistic

aAffe

4. Answer any three from the following
questions : 10x3=30
oo fran R et Fﬁi‘l o Teq fi

(a) Explain the methods for measurement of
- fertility. 10

o1 T Ay T ~rfSTE I 740
(b) Write short notes on any two from the
followmg ot s 5x2=10

wero fail 7 CTe PR 5 G foran
(i) Life table
&g 1 W e
(i) Wholesale price index numbér
AP 7 PF A
(i) Gross reproduction rate
¥ A4S I
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(7))

{c) {l} What precautions should be taken
to select the base period to construct
an index number? 4

MIRT orge I Sfedd P Frae
ﬁﬁi‘f{mﬂ@rwwﬁﬁm?

(ii) Given the following data :

Commodity po qo p1 ql
A 1 10 - 2 5
B 1 5 X 2

where P, 4, refer to base period price
~and quannty P 4 refer to current
period price and quantlty Find X if the
ratio . between Laspeyres’ (L) and

~ Paasche’s P) index numbers is
L:P=28:27. : bt R 6

Wﬁm@mﬂ'ﬂ

i:’@p q‘if‘f%ﬁﬁwwﬁw P, q‘i
sﬁ—aﬁmwﬁw*{&mlxww
P T A R () WF R (P

o SPIRF FYMS L: P =28 : 27 W |
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(8)

~ (d) (i) Fitatrend line to the following data

. by the method of least squares : 6
wore fom R R AN 3o efafe
(4R TS AT 1 :
Year . 1970 1971 1972 1973 1974
(¥%9)
Production d 18 21 - 23 27 26
{in 000 tons) '
Ee=r (°000 579)
(i) Calculate the trend values. 2
Tomfen W A 301
(iii) Estimate the production in 1975. 2

1975 5919 B off{wne ey 411

(e/ What is simple random . sampling?
Mention two methods of selecting
random samples. Discuss the merits and
demerits of stratified random sampling.

142+7=10
e qfoes efnam 2 Tyfeee afoed R
T4 ! &S W SEd 390 | e AT
26T R4 S* SEYRYPTR AL 47 |

() () Show that Fisher’s index number
o satisfies both time reversal test and
factor reversal test. 5
ySq @ TPORY PRI T BT
H wF Somm Sewwa oW Bm
FEI
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(9)

(i) Define - vital events and vital
statistics. Compute age-specific
death rates for the age groups given

below : 1 1+1+3=5
Age group No. of Deaths Population
0-10 25 1000
10-20 15 2000
20-30 5 3000
3040 7 2500
40-50 18 - 500

toR B T Do SRR S B |
Tere i T TR (I YPR) [T -

R o 29 e w41 -
TP T IR R PRI
0-10 25 1000
10-20 15 2000
20-30 . 5 - 3000
30-40 7 2500
40-50 18 -~ 500

8A/847 - ( Turn Over )



(10)

( ECONOMETRIC METHODS )

1. Answer the following as directed : 1x7=7
wore fiaa Aot SR e fi

(a) What is a dummy varible?

SO v 2

(b) The equation of the exponential curve is
of the form Y = .
( Fill in the blank )

MR @R AR PA DY = |
( A& o1 [T )

" (¢) What is time series?

Free ¥ 2

(d) 1f R? value is very high and most of the
independent variables are insignificant,
then what will be the problem?

M R2 T I9 W% WF FOz eI Ol
=R =, (SR’ B e iR 2°32
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(11)

(e} Why there is type Il error problem in
multicollinearity? g

TR TS o 11§91 STl Y 4es 2

() What is the role of the dummy variables
in a model of the form Y; =a +BD; +U;?

. Y,=a+BDt+U,. ke A8 veed Bl
2

{g)  In a time series, heteroscedasticity does
" not occur. i )
( Write True or False )

W%ﬁwﬁsﬁwmmt

._(-ﬁcauwﬁm)

2. Answer the following questions : - 2x4=8

wore fgl opraed Ted forar

fa) What is seasonalisation of dummy
variable?
SO o AT I e @A

(p) Draw a figure showing positive and
negative first-order autocorrelations.

B B s TR 4 TR TR TS
SRR (RS SF AT i o1 oot |
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(12 )

(c) Mention two limitations of the method of
moving averages.

513 TS Tafed 701 HRael Trard 391 |

(d) Name two problems that arise in the
estimation of a linear regression model,
when the assumptions of Efu;)? =82
and E(u; u;) =0 are violated.

1 TETR AW @R R TeIRe SR ik
. ffre R @, afem Ew)?=5* W=
E (u; u ;) = 0 SfS4Re 51 T oo = |

3. Answer any three of the following : 5x3=15
werd R e b e Tes foren -

(a) Explain briefly various reasons for the
problem of multicollinearity.

et sorgm IR Rfen F9 ToE oS
M 10 i

(p) Distinguish between AOV and ACOV
models.

ﬂ#ﬁﬂaq ﬁm?r F SPLPRT ﬁmq ik
e AL ST 1
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(13 )

(c) What is a dummy variable trap? How
can we overcome it?
S0P bor T WA 3 2 e W Rwed |
IR A&

(d) Describe briefly the Koyck model.

Koyck Sf¥CH1 54L& S 47 |

(e) Calculate three-year moving averages
for the following data and comment on
the results :
were frr ©3R A BR-I=fRAW o o A
F9N HIF FAF oS Foro 77

Year (I%9) : 2006 2007 2008 2009 2010
Production : 21 22 23 25 24
(in ’000 tonnes)
G (°000 57®)
Year (J%9) : 2011 2012 2013 2014 2015
Production t 22 25 26 27 26
('m 000 tormes)
G (000 5S) L s

4. Answer any three of the following : = 10x3=30

ool R @ foet 2R et 341 ¢

fa) Explain the methods of detecting the
multicollinearity problem in a linear
regression model. What are the
remedies for multicollinearity problem?

9B FRAERT TRET WS IR TDTE
TPl SHFARLE RTINS S

T | I I T AR @A
o
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(14)

(b) From the following information, test the
autocorrelation :

woTe TRy B ©[1 T STTIE oRkw 40 -

X 1 2 3 4 5 6 17

Yy : 2 4 6 8 10 12 14.
"The tested model for the above
observationis Y; =1-2+0-6X;.

@@q ALFNR IA@ CRrFEE wREo TA
Y, =1-2+0-6X,. '

() Why is the study of time series useful?
Discuss the various components of a
time series.

e o R g Fee R
TR SIS 4 |

(d) Briefly discuss the importance of the
adaptive expectations model. What are
the problems faced in estimating the
model? . . -

Sfewrne aor SRR $Fg SLF DAl
1| ¢ D RS IR @R TEIEA
. IR &3 s

fe) Explain the partial adjustment model.

e ANCEES SI301 01 40|

8A/847 - { Continued )



(15)

() Explain the method of least squares in
measuring trend of a time series. How
can exponential trend be determined?

IEAR o gRAE fwew 3 e
A T WG S @ e
IR AR

* kx
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